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QUESTION 1

Which device is a DTE device?
A. CSU/DSU

B. router

C. cable modem

D. DSL modem

Correct Answer: B

QUESTION 2

Which two IPv4 addresses can be assigned to a host computer? (Choose two.)
A. 255.255.255.255

B. 10.1.1.20

C.0.0.0.0

D. 192.168.10.15

E. 292.10.3.4

Correct Answer: BD

QUESTION 3

Which type of physical connector does a Gigabit Ethernet port typically use?
A. RJ-9

B. RJ-45

C. DB-25

D. RJ-11

Correct Answer: B

QUESTION 4

Which layer of the OSI model defines how data is formatted for transmission and how access to the physical media is
controlled?
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A. presentation

B. data link

C. network

D. transport

Correct Answer: B
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Reference: https://itcertzone.wordpress.com/2011/01/24/the-seven-layers-of-the-osi-model/#:~:text=Layer

%202%3A%20The%20Data%20Link,reliable%20delivery%200f%20the%20data.

QUESTION 5

Which two pairs of LAN Ethernet devices use an RJ-45 straight-through cable? (Choose two.)

A. switch-to-switch
B. switch-to-router
C. switch-to-hub

D. router-to-router
E. switch-to-server

Correct Answer: BE
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